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y(x): Cle—iIOx + CzeiIOx + C3ex
= C,(cos10x —isin10x)+ C, (cos10x + isin 10x) + C,e*
=(C, +C,)cos10x +i(C, — C, )sin10x + C,e*

= Acos10x + Bsin10x + C,e”

H14=C,+C, ~ B=i(C,-C,) «
B - PRI R A R () 1O FIG L
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y(x)=3cos10x +sin10x +e*
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. Find the general solution of the following equation y” +18y" +81y" =0 - [94 ’F [ﬁI”FTT*
FSET15% ]

Solve (D’ -2D+5) y=0. [93 )i~ & 57 10%)

Solve (D2 +A° )2 y=0, Ais real.

Sty =sinx By +2y" +11y"+ 2" +10y = 0V~ i s [ 92 [ 1+ A Hr 15%]
Solve y""+y=0. [86 Fl1[l [FTR[Fr7%]
. (a) Find all solutions of the differential equation " +3y"+ )y +3y=0.

(b) Explain why the set of solutions you just found in part (a) actually contains all the
solutions. [88 % {”Fﬁﬂﬂj’ﬁ’? 10%]






